BEEE D EXE

BT ILT—H

&+l F2 45

MANUDANT

[T HERE | D
BREIT—F U DHXRETETED



R e = = e T S N S S =

N N NN DN NN

N DN DN OO O WODN -
]

o OO O O

W w w w w

S N O T S NG SO NG NN

© 00 N o O B W DN P

=
N B O

1.12.1
1.12.2

.13

1.13.1
1.13.2

N
g b~ W N R AW N K

N
g h W N R

N NN NN NN
g A W DN

[1]

[2]

O ~NO® OO U DN DMDEDIBANDRDOWWOWOWMRNONNIERIRRPRE PR P

N RN NN RNNMRNNNDMNNMNNMNNNERERPRERRERRERERPRPR P P PR
N o OO R~ WWNNRPRPRPRPROONODOOOOOOOOO WN P P P O




oo o1 oo o1 N o1 o1 oo o1 o1

N NN DN NN
o O A W N P

N e
o U WN

[1]

[2]

28
28
28
29
30
31
31
32
33
33
34
35
37
38
39




1
1.1
MANUDANL . 8r ( )
T -A
1.2
1.3
1.4
1000
1 000 3
: :
: :
i [BAZ : mm]
2000 500 1 500
B 5000(mm)
1.5

o ck
o ck

SD345

35.00 ()

18 4

24 (N/mm?)
24 (N/mm?)

FORUMS8




(KN/m®)
24.500
10.000
20.000 21.000
20.000 21.000
Kh 0.12
( ) kh 0.12
( ) Kn 0.12
1.6
(€H)
T
| |
| I
| |
L
| |
| |
L
|
| |
L
| |
| |
| |
[ N
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( o=
| /
L /
(m) 0.000
Hr
(m) 0.000
1.7
[1]
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L
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L
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ST
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\_____H/
(KN/m?)
(m (m
1
0.000 [ 10.000 10.000 [o |o |o

FORUMS8




1.8

1.9

1.10

1.11

)
0.000 23.333
22.049 17.500
0.000 ( )
0.000 ( )
(kN/m?)
0.000 0.000
0.000 0.000

FORUMS8




1.12

1.12.1

1.12.2

1.13

1.13.1

B  (kN/m?) 0.000
tang 0.600
c (kN/m?) 460.000
) 21.00
B)
N
1.000
A -0.300
y -0.300
PO %
(kN/m) (KN/m)
1) 0.000 26.000
1) 0.000 26.000
€: B
O) (KN/m?)
1/6 1.500 3.000 1000.000
1/3 1.200 2.000 1500.000
B (m
eB eg MB V
M (kN-m)
v (kN)

FORUMS8



1.13.2
@
1
(N/mm?)
O O s Ta T =
1.00 8.000 180.000 0.230 | 1.700
1.50 12.000 300.000 0.350 | 2.550
2)
(N/mm?)
O c O s T a T 2
1.00 8.000 180.000 0.230 | 1.700
1.50 12.000 300.000 0.350 | 2.550

Ta
TaZ

FORUMS8




2
2.1
@
D
1
4 5
2 3
2)
™ Vi Xi Vi Yi
x x Vi(mz) i vi 1 1 1 1
1 1.000x 6.000x 1.000 6.000 2.000 5.000 12.000 30.000
2 2.000x 1.000x 1.000 2.000 1.000 0.500 2.000 1.000
3 1/2x 0.500x 1.000x 1.000 0.250 2.167 0.667 0.542 0.167
4 1/2x 1.000x 1.000x 1.000 0.500 0.667 1.333 0.333 0.667
5 3.000x 1.000x 1.000 3.000 2.500 1.500 7.500 4.500
> 11.750 22.375 36.333
XG > Vi Xi > Vi 22.375 11.750 1.904 (m)
Y6 I Vi Yi SV 36.333  11.750 3.092 (m)
)
D
i—__
|
|
|
|
|
|
|
|
|
|
|
|
|
I
|
~d
e |
/ -1
I 4
_//
2)
™ Vi Xi Vi Yi
x x Vi(ma) i Vi 1 1 1 1
1 1.500x 6.000x 1.000 9.000 3.250 5.000 29.250 45.000

FORUMS8




(m o o
< < vi(m) % v Vi Xi Vi Yi
> 9.000 29.250 45.000
XG > Vi Xi > Vi 29.250 9.000 3.250 (m)
YG Z Vi Yi Vi 45.000 9.000 5.000 (m)
2.2
@
[1]
W % v X
(kN) (m
24.500 x 6.000 147.000 2.000
24.500 x 5.750 140.875 1.804
@
[1] ( b
1)
(m (m
v(m) X % VI(m) X1 vI
( ) 9.000 3.250 5.000 0.000 0.000 0.000
(m
vu(m) Xu Yu
( ) 9.000 3.250 5.000
Vu vV Vi
Xu (v X VI XI) Vu
Yu v Y VI YD) W
Wu Vu Wi 1
(kN) (kN)
( ) 9.000 x 20.000 180.000 0.000 x 21.000 0.000
W X
Wu WE | (Wu Xu wl XD/w
(kN) (m)
( ) 180.000 3.250

FORUMS8



©)
[1] «( D
(m (kN.m)
Ni Hi
(kN) (kN) Xi Yi Ni  Xi Hi i
287.875 0.000 1.904 0.000 548.188 0.000
180.000 0.000 3.250 0.000 585.000 0.000
467.875 0.000 1133.188 0.000
2.3
1
N = E (ql4+q2) + L
q
L
X
[1]
r,LF}D@B}HJ}/
! \
! I
! I
! I
‘ \
! I
! I
! I
! \
! I
! I
! \
! I
o
! I
/ri _______ 1
‘ l
\ ST
! /
o
i i ; N X
(kN/m?) (kN/m%) (m (kN) m
1 10.000 10.000 1.500 15.000 3.250
2.4
[1] «C D
4.000 m
1.000 m
7.000 m
0.000 °
Yy s 20.000 kN/m?
35.00 °
0 0.000 °
wi 10.00 ° 85.00 °

FORUMS8




(w) Q) )
hw 0.000 m
W(KN)
w(®) P (kN)
61.00 | 271.611 0.000 38.802 | 310.413 151.399
62.00 | 260.538 0.000 37.220 | 297.758 151.715
63.00 | 249.667 0.000 35.667 | 285.334 151.715
w 62.00° P 151.715 kN
Wesin(w—¢)

P =

costo—¢dp—a—20)

297. 758 X sin (62. 00° —35.00° )

cos (62.00° —35.00° —0.000° —0.000° )

151.715 kN
Ph P cos(a &) 151.715x cos( 0.000° 0.000° )
Pv P sin(a o) 151.715% sin( 0.000° 0.000° )

H 7. 000
Ho = — = = 2.333 m

3
X Xp Ho tana 4.000 2.333x tan0.000° 4.000 m
y yp Ho 1.000 2.333 3.333 m

151.715 kN

0.000 kN

FORUMS8
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2.5
@
[1] 1)
‘,__ _FM/
! I
! \
! I
! I
! I
! I
! I
! I
! I
! I
! I
! I
[ | -—
o
! I
D
/7 |
// !
\ ST
‘L 77777 %
(kN.m)
Ni- (kN) Hi (kN) X, (M) Yom Mo NG X M HoY.
467.875 0.000 2.422 0.000 1133.188 0.000
15.000 0.000 3.250 0.000 48.750 0.000
0.000 151.715 4.000 3.333 0.000 505.666
482.875 151.715 1181.938 505.666
N, H, M,
(kN) (kN) (kN.m)
1 482.875 151.715 676.272
@
N, b kN)
He o (kN)
Me  No B 2.0 M, (KN.m)
B,  4.000 )
|
N. H. M.
(kN) (kN) (kN.m)
1 482.875 151.715 289.478
= (5.000m)
N. H. M.
(kN) (kN) (kN.m)
1 2414.375 758.575 1447.390

FORUMS8
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2.6
2.6.1
_ M
ey — V
€s (m)
Ms (kN.m)
v (kN)
€. B n
€. (m)
B (m) B 4.000
n
Ms \ €s €a
(kN.m) (kN) (m) (m)
1 289.478 482.875 0.599 0.667
2.6.2
H, CA. VT tang s
Ha (kN)
Cs (KN/m*)  cs 0.000
tang . tang . 0.600
A. m) A. L B.
Ve (kN)
V" gl g3 /2 B"
gl (kN/m?)
g3 (kN/m?)
Vi gl X/ 2
gl (kN/m?)
X (m)
L (m L 1.000
B" (m) B" B h cot(w)
B. (m), B. =B 2es
B (m) B 4.000
€s (m
h (m h 1.000
w T/4 o /2 6 ()
@ () o 21.000
0 (@)

FORUMS8
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© e ql 93 v
) m B'(m) | AT | (kN/mD) (kN/m) (KN)
«( D 38.058 | 0.599 | 2.723| 2.801 | 229.273 81.492 | 423.062
f. Hb
L
Hb (kN)
H, Hb
(KN) (KN) f. fu
( D 253.837 | 151.715 1.673 1.500
2.6.3
1)
- _ v M
gmin, gmax = ST
2)
v
gmax
* X
v (kN)
Me (kN.m)
€s (m)
X (m) x 3 B 2 €:
gmax (kN/m?)
gmin (kN)
B (M B  4.000
L (m L  1.000
[1] (
=1
] |
] |
o
o (kN/1)
1o (m)
Lo X B gmin gmax
| |
P - 4.000 12.165 229.273  1000.000
e
L_____._/
1.401
0.599

£.3 643

GaT 21

FORUMS8
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2.6.4
€))

ARV (2 F5 U 2 MRIR SR ) E

1
qd = a *c -Nn-(c*)%—%zg- B ey +B N, » Bx)"+p0 N, -+ (cx)"

qd (KN/m?)
Aou A -0.300 M -0.300
B a 1 038" L B 1 0.4B" L
B* L 1 ,B" L 1

c (kN/m?) ¢ 460.000

c* c* c c0 1 c* 10 (kN/m?)

cO cO  10.000 (kN/m2)

B* B* B* BO (0] v
N c* B* 1

BO BO 1.0 (m)

% (kN/m*)

Ne Ny N,
tan@ , tan@ Ho V

B" (m) B* B 2e,

B (m B 4.000

€5 (m)

po (kN/m?)

b (m) b 6.000
b vy’
y " Y R B
R R 2.560
tan@ y .
Hb Vv " " N, | k) v
( D 0.314 8.748 | 3.475| 0.818 | 26.000 | 7.171
& (m | B (m AT () a B (kﬁ?mﬁ (kﬂgms
( 1 0.599 2.801 2.801 1.168 | 0.776 0.000 4723.240

FORUMS8
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qf = ad R abo . Bb, +qgbo
qf
(kN)
qd (kN/m?)
gho b 0 (kN/m?)
Dn B" a
gbo n{a ¢ N (¢c*Y n/2 B y. B N (BY)"}
2)n B a
gbo n{a ¢ N (¢*) 1/2 a B vy. N, (B"}
B" (m) B B 2es
B (m) B 4.000
es (m)
Ne N, ® 6
B
a B a 1 038" L B 1 0.4B" L
B. L 1 ,Be L 1
n n 1l-mcot(w)
n 1 n B a n B" a
h B > h/B
(m) Zh 1.000
(m) a 2.000
n/4 /2 6 ()
)
c* c c0 1 c* 10 (kN/m?)
c0 c0 10.000 (kN/m?)
B* B* B* BO (0] v
N c* B* 1
BO BO 1.0 (m)
A -0.300 -0.300
( ) BT 20.000 Be 26.843
Be
Be B " tan'kh
kh kh 0.120
(oo) n qd , gbo . qf .
Ne N, (KN/m?) (KN/m?) (kN/m?)
1 6.436 | 0.931 | 38.058 0.681 4723.240 2366.698 4338.529
gf* qf r
ga gf* n
qf* (kN)
r r 1.00
ga (kN)

FORUMS8
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qf* qa
(KN/m?) (kN/m?)
( 1) 4338.529 1446.177
¢)
Qa Ae qa
A m)
0 (kN/m)
0a V Q.
A () (kN/m?) (kN) (kN)

( 1 2.801 1446177 482_875 4050.774

FORUMS8
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3
3.1
3.1.1
@
1
Ve -—-7
7/ |
e ,_____'
! /
|
| S, -
@
(m)
% % Vi(m) g vi Vi Xi Vi Vi
1 1.000x 6.000x 1.000 6.000 | 0.500 | 3.000 3.000 18.000
z 6.000 | — — 3.000 18.000
XG 2 Vi Xi Vi 3.000 6.000 0.500 (m)
YG > Vi Vi > Vi 18.000 6.000 3.000 (m)
3.1.2
@
[1]
W y v
(kN) X (m)
( ) 24.500 x 6.000 147.000 0.000
3.1.3
[1] « D
Xp 0.500 m
yp 0.000 m
H 6.000 m
a 0.000 °
Yy s 20.000 kN/m?
(0] 35.000 °
o) 2 30 23.333 °
Wi 10.00 ° 85.00 °

FORUMS8
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(w) Q) )
hw 0.000 m
W(KN)
w(®) P (kN)
58.00 | 224.953 0.000 37.492 | 262.445 102.547
59.00 | 216.310 0.000 36.052 | 252.362 102.652
60.00 | 207.846 0.000 34.641 | 242.487 102.523
w 59.00° P 102.652 kN
Wesin(w—¢)

P =

costo—¢dp—a—20)

252. 362X sin(59. 00° —35.00° )

cos (59. 00° —35.00° —0.000° —23.333° )

102.652 kN
Ph P cos(a o) 102.652x cos( 0.000°  23.333° ) 94._257 kN
Pv P sin(a o) 102.652x sin( 0.000°  23.333° ) 40.658 kN

H 6. 000
Ho = — = = 2.000 m

3
X Ho tana xp 2.000x tan0.000°  0.500 -0.500 m
y yp Ho 0.000 2.000 2.000 m

3.1.4

FORUMS8
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| Li
I
I
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o
! I
e A 1
s |
d e
\ .
! /
l s
Ni H: Xi Yi M Mat+My
(kN) (kN) (m) (m) (KN.m)
147.000 0.000 0.000 0.000 0.000
40.658 94.257 -0.500 2.000 188.514
0.000 94.257 188.514
Xi Yi
3.1.5
@
AT T
1 S
= [B{Z : mm]
Ei= ﬁ
(cm) (cm’/ ) (cm®)
7.0 D16 1.986 8.00 15.888

11.973 (cm?)

FORUMS8
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@
X+ {as+ —d)}=0.0
L0x%RD 5,
M
o
X h  x (x—d) + (h/2—4d)
*|=——)+n-As-

( 2 3 ) X

d—x
O« 0. °

X
X (mm)
h (mm) h 1000.000
b (mm) b 1000.000
d (mm)
As (mm?)
n n 15.00
e (mm)
ocC (N/mmz)
oS (N/mm?)
M (N.mm)
M N X (N/mm*) (N/mm?)
(kN.m) (kN) (cm)
( 1 188.514 0.000 18.799 2.311 8.000 136.816 180.000
©))
S
Tha : é T al
+d

T, (N/mm?)
Sh ()
d (mm)
b (mm)
T (N/mm?)

FORUMS8
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Ta Ce Cpt CN T u"

CNZH-% 1 =N =2

Ta (N/mm?)

Ce

Cpt Pt

CN

Mo

(kN.m)
(N/mm?)
Si(kN) d(em) T T a T = Ce | Cpt CN

( 1 94.257 93.000 0.101 0.201 1.700 1.040.84|1.00

FORUMS8
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4.1

4.1.1

€Y)
D

2)

[1]
0.000 m
C
! I
! I
! I
! I
! I
! I
! I
! I
! I
! I
! I
! I
! I
\
\
\
ST |
s ]
| r~
\ )/
o}
[BEAZ : mm]
|
o
! I
! I
! I
! I
! I
! I
! I
! I
! I
! I
! I
! I
: I
L
— I_____I
2 |3 i
———
1 _//
Vi Xi Vi Xi
x x b
(m) (m)
1 1.500x 1.000x 1.000 1.500 0.750 1.125
2 1/2x 1.000x 1.000x 1.000 0.500 0.833 0.417
3 0.500x 1.000x  1.000 0.500 0.250 0.125
z 2.500 | —— 1.667
XG > Vi Xi > Vi 1.667 2.500 0.667 (m)

FORUMS8




- 22 -

4.1.2
€Y
[1]

4.1.3

[1]

£.2 652

Wy v X
(kN) (m
24.500 x  2.500 61.250 0.667
1
N = E(ql-l—qZ) - L
¥ = 2+ ql+q2
3+ (ql4+q2)
gl
g2
L L 1.500 (m)
« b
(kN/m*)
ql P2 N (kN) X (m)
229.273 147.857 -282.848 0.804

FORUMS8
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4.1.4
[1] « D
o
\
! I
! I
! I
! I
! \
! I
! I
! I
! I
! I
! I
! I
|
! I
/ﬁJ 7777777 1
s |
/7 JE—
‘ /
! /
l —
i
NN
1>
N Xi Mo N X
(kN) (m) (KN.m)
-61.250 0.667 -40.833
282.848 0.804 227.401
221.598 186.568
4.1.5
@
&=
1 =1
T m=
(cm) (cm’/ ) (cm®)
10.0 D10 0.713 8.00 5.706
5.624 (cm?)

[BAL : mm]

FORUMS8
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@
2+n
K {as+ —d)}=0.0
L0x%RD 5,
M
g, —
b-x h  x (x—d) + (h/2—4d)
*|=——)+n-As-
2 (2 3) x
d—x
O — N O¢°*
X
X (mm)
h (mm) h 2000.000
b (mm) b 1000.000
d (mm)
As (mm”)
n n 15.00
e (mm)
ocC (N/mm?)
oS (N/mm?)
M (N.mm)
M X (N/mm?) (N/mm?)
(kN.m) (cm)
( 1 186.568 17.200 1.177 8.000 177.430 180.000
4.2 [2]
1.000 m

FORUMS8
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4.2.1
@
1)
==
P
! I
! I
! I
! I
! I
! I
! I
! I
! I
! I
! I
! I
! I
! I
! I
/,_J |____1I
A J
____//
2)
Vi Xi Vi Xi
* * () (m
1 0.500x 1.000x 1.000 0.500 0.250 0.125
2| 1/2x 0.500x 0.500x 1.000 0.125 0.167 0.021
z 0.625 | —— 0.146
XG > Vi Xi > Vi 0.146 0.625 0.233 (m)
4.2.2
@
[1]
W V% v X
kN) (m
24.500 x 0.625 15.313 0.233
4.2.3
1
N = E(q1+q2) - L
_ 2+ql+aq2
3+ (ql+q2)
gl
g2
L L 0.500 (m)

FORUMS8
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[1] « D
(kN/m5
ol 02 N (kN) X (m)
229.273 202.134 -107.852 0.255
1. 401
0. 599
2. 000
Z i ,,|uu E’
(||
4.2.4
[1] « D
C
! I
! I
! I
! I
! I
! I
! I
! I
! I
! I
! I
! I
! I
! I
! I
P
s |
/7 ﬁ,,,J
! /
! /
o —/
AMAAAAAAARNAAAALA
RERRERERERA e
RPN
NN
1L
Ni Xi Mo N X
(kN) (m (kN.m)
-15.313 0.233 -3.573
107.852 0.255 27.528
92.539 23.955

FORUMS8
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4.2.5
@
M

a > 2.5dDPE  S,= S——tanh

a 2.5d Sy S

Sh )

d (mm)

d* (mm)

b (mm)

S N)

M (N_mm)

0 0 0.000 tan® 0.000

a (mm)

S M Sh
d- 2.5 d a M/d®  tan@
() () (kN) (kN.m) (kN)
1 140.000 475.000 84.190 92.539 23.955 0.000 92.539
Sh
Tn — 5 = T a1
b-d

T, (N/mm?)

Sh N\)

d (mm)

d- (mm)

b (mm)

S Q)

s (N/mm?)

al Ce Cpt Cdc T "
T 4" (N/mm?)

Ce

Cpt Pt

Cdc

(N/mm?)
Si(kN) d*(cm) 1 T a T Ce |Cpt |Cdc

1 92.539 140.000 0.066 0.743 1.700 0.94 | 0.58 | 5.91

FO

RUM8
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5.1

5.1.1

€Y)
D

2)

[1]
0.000 m
o
|
! \
! \
! \
! \
! I
! I
! I
! I
! I
! I
|
} )]
// |
s I
l A
- —
[EAZ : mm]
i
P
! I
! I
! I
! I
! I
! I
! I
! |
! ]
! ]
! ]
! ]
! ]
: ]
~d
// 1
//
! /
—
Vi Xi Vi Xi
* * (m) (m
1.500x 1.000x 1.000 1.500 0.750 1.125
1.500 | —— 1.125
XG > Vi Xi > Vi 1.125 1.500 0.750 (m)

FORUMS8




- 29 -

@
)

2)

5.1.2
€Y)
[1]

0
[1]

Vi Xi Vi Xi
8 8 (m) (m)
1 1.500x 6.000x  1.000 9.000 0.750 6.750
b3 9.000 | — 6.750
X6 = Vi Xi s Vi 6.750 9.000 0.750 (m)
Wy v X
(kN) (m)
24.500 x 1.500  36.750 0.750
« b
i)
v X VI X1
() (m (m) m
« ) 9.000 0.750 0.000 0.000
Vu Xu
() (m)
« ) 9.000 0.750
Vvu VvV VI
Xu (V X VI X1') W

FORUMS8
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Wu Vu Wl |
kN) kN)
) 9.000 x 20.000 180.000 0.000 x 21.000 0.000
W X
Wu Wi Wu Xu wr Xb)/w
(kN) (m
) 180.000 0.750
(©)
[1] ( D
Ni Xi NI Xi
(kN) (m (kN.m)
36.750 0.750 27.563
180.000 0.750 135.000
216.750 | —— 162.563
5.1.3
1
N = E (ql4+q2) + L
q
L
X
[1]
~-L /
! I
! I
! I
! I
! I
! I
! I
! I
! I
! I
! I
! I
! I
o
! I
Ay
\
: o
[ /
l_ s
qL. 92, L N X
(kN/m%) (kN/m%) (m) (kN) 0)
1 10.000 10.000 1.500 15.000 0.750

FORUMS8
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1.500 (m)

L

X (m)

0.558

N (kN)

79.309

(KN/m?)

g2

93.580

ql

12.165

N
(KN.m)

M

162.563

11.250

FORUMS8

L

D

(al+a2)

2+ ql+q2
3+ (ql4+q2)

1
ql
g2

2

401
2. 000

1.

N:

5.1.4
[1]

~ N
, _ TEIoa
b 4 | =222
| =———A
~ L | ZZZZ22
A // | =———=\
N | S22
12. 165 N =T
o/
T~
——
——2
—— =7\
=
————
229.273
(|
—
e

5.1.5

0.750
0.750

™

15.000

(kN)
216.750
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[B{Z : mm]

N Xi M N X
(kN) (m) (kN.m)
-79.309 0.558 -44.216
152.441 129.597
5.1.6
@
&=
) E
T m=
(cm) (cm’/ ) (cm®)
1 10.0 D13 1.267 8.00 10.136
2 - N
1| — | —
| — | —
8.434 (cm?)
@
D .
x4 bn {As + x—d)}=0.0
K OxERD D,
M
g, —
b x h x (x—=d) » (h/2—d)
s === +n e As -
(2 3) X
d—x
O — N O

FORUMS8
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X (mm)
h (mm) h 1000.000
b (mm) b 1000.000
d (mm)
As (mm?)
n n 15.00
e (mm)
oc (N/mm?)
oS (N/mm?)
M (N.mm)
M x (N/mm?) (N/mm?)
(kN.m) (cm)
1 129.597 15.088 2.021 8.000 150.484 180.000
5.2 [2]
0.500 m
=
! I
‘ \
! I
! I
‘ \
! I
! I
! I
! \
! I
! I
]
‘ \
e
/ﬁlii - 771
- |
l /
| —
[BEAL : mm]
00
5.2.1
@
1)
|
P
P
P
! ]
! I
! I
! I
! ]
! ]
! I
P
! I
4L
/// 1
s
o _//

FORUMS8
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2)

@
)

2)

5.2.2
o
[1]

@
[1]

Vi Xi Vi Xi
) ) (m) (m)
1 1.000x 1.000x  1.000 1.000 0.500 0.500
b3 1.000 | — 0.500
X6 = Vi Xi s Vi 0.500 1.000 0.500 (m)
|
|
o
L
! I
! I
]
oo
L
! ]
! ]
! ]
! ]
: ]
1L
// |
S 1
| r~
| /
S /
Vi Xi Vi Xi
) ) ) (m
1 1.000x 6.000x 1.000 6.000 0.500 3.000
b2 6.000 | —— 3.000
X6 = Vi Xi s Vi 3.000 6.000 0.500 (m)
Wy v X
(kN) (m)
24.500 x 1.000  24.500 0.500
« D « b
1
v X VI X1
m) (m () (m)
« ) 6.000 0.500 0.000 0.000

FORUMS8
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®
[1]

5.2.3
[1]

Vu Xu
() (m
( ) 6.000 0.500

Vu Y |

Xu (VX VI XI) Vu

0.000

Wu Vu Wi VI
(kN) (kN)
( ) 6.000 x 20.000 120.000 0.000 x 21.000
W X
Wu Wi Wu Xu Wi Xbsw
(kN) (m)
« ) 120.000 0.500
( D
Ni Xi NI Xi
(kN) (m) (KN.m)
24 .500 0.500 12.250
120.000 0.500 60.000
144500 | —— 72.250
1)
Xp 4.000 m
yp 1.000 m
H 7.000 m
a 0.000 °
y s 20.000 kN/m®
(0} 35.000 °
B 0.000 °
0 tankH tan™0.12 6.843°

FORUMS8
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sing +sin(6 +A—5)

0 = tan
1—sing *cos(+A—3)
sin35. 00° Xsin(6.843° +11.989° —0.000° )
= tan
1—sin35. 00° Xcos(6.843° +11.989° —0.000° )
22.049°
sin(B 4+ 6) sin (0. 000° +6.843° )
A = sin'——— = sin® - - = 11.989°
sin ¢ sin3b. 00
Wi 10.00 ° 85.00 °
(w) w )
hw 0.000 m
W(KN)
w(C) P (kN)

52.00 | 382.830 0.000 0.000 | 382.830 156.468

53.00 | 369.241 0.000 0.000 | 369.241 156.633

54.00 | 356.006 0.000 0.000 | 356.006 156.519

w 53.00° P 156.633 kN

W/ cosO «sinflo— ¢+ 8)

cos(lo—¢p—a—10)

369. 241 cosb. 843" X sin(53.00" —35.00° +6.843" )

cos (53.00° —35.00° —0.000° —22.049° )
156.633 kN

Ph P cos(a o) 156.633% cos(0.000°  22.049° )

Pv P sin(a 9d) 156.633% sin(0.000°  22.049° )

y yp Ho 1.000 2.333 3.333 m

145.178 kN

58.800 kN

FORUMS8



5.2.4

=L
aX

pv= = = 78.400 kN/m
L 1. 500
pv
Pv
L
L1 0.500 m
L2 1.000 m
. 78. 400
SHTEI B DA EIRE  pd = if L1 = L 500 X 0.500 = 26.133 kN/m

1
N = E(q1+q2) L
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2+ Pv 2X58. 800

1 1
N = ry « (pd+pv) + L2 = EX (26. 133+78.400) X 1.000 = 52.267 kN

pd+2-pv L2 26.133+2X78.400  1.000
X = ————— =

X = 0.583 m
pd+pv 3 26. 1334 78.100 3

S8 800

2+ ql+q2
3+ (ql4+q2)

gl
g2
L L 1.000 (m)

FORUMS8
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=]

S
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o

N
(kN.m)

M

72.250

30.489

-6.522

96.217

(m

0.500

0.583

0.272

FORUMS8

D
D

0.7
2. 000

.27

[1]
5.2.5
[1]

~_ M/
| -2
| 1 EZDy
\\\\\\\\\\\\\\\\\ 4 I ===
L (=it
N [ S
N I S5525
N | S-==z=2A
N___ E--ZZZ

(kN)
144.500

52.267
-24.019
172.748
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5.2.6
€Y
M
a > 2.5dDFA S, = S———tanh
a 2.5d Sy S
Sh Q)
d (mm)
d* (mm)
b (mm)
S Q)
M (N_mm)
0 0 0.000 tanb 0.000
a (mm)
S M Sh
d" 2.5 d a M/d®  tan@
() () (kN) (KN.m) (kN)
1 90.000 225.000 141.060 172.748 96.217 0.000 172.748
S
Ta — 5 = T al
b-d

T, (N/mm?)
Sh N\)
d (mm)
d- (mm)
b (mm)
S Q)

“ (N/mm?)
al Ce Cpt Cdc T "
T 4" (N/mm?)
Ce
Cpt Pt
Cdc

(N/mm?)
Si(kN) d*(cm) 1 T a T Ce |Cpt |Cdc

1 172.748 90.000 0.192 0.638 2.550 1.06 | 0.73 | 2.38

FORUMS8
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